Wind Chill Calculation Chart,

where T air = Air temperature in °C and Vo, = Observed wind speed at 10m elevation, in km/h.

FROSTBITE GUIDE

Tair| 5 0 -5 | <10 | -15 | -20 | -25 | -30
Vio

5| 4 -2 -7 | -13 | -19 -30
10 3 -3 -9 | -15 | -21

15| 2 -4 | -11 | -17 | -23

200 1 -5 | -12 | -18 | -24

25 1 -6 | -12 | -19 | -25

30 O -6 | -13 | -20 | -26

35| O -7 | -14 | -20 | -27

40| -1 -7 | -14 | -21 | -27

45| -1 -8 | -15 | -21 | -28

50| -1 -8 | -15 | -22 | -29

55| -2 -8 | -15 | -22 | -29

60| -2 -9 | -16 | -23 | -30

65| -2 -9 | -16 | -23 | -30

70| -2 -9 | -16 | -23 | -30

75 -3 | -10 | -17 | -24 | -31

80| -3 | -10 | -17 | -24 | -31

-35

-50

Low risk of frosthite for most people

Increasing risk of frostbite for most people in 10 to 30 minutes of exposure

High risk for most people in 2 to 5 minutes of exposure



